/DVIRB

3UDFRZQLN 5RINiDG  PJU gILPDN "DPLDQ 7\J

7N 7N 7N
SURIHNIRZDQLH VHUZIVYZ LQIHUQHIRZ\FK SURIHNIRZDQLH VHUZIVYZ [QIHUIQHIRZ\FK
g SUNXVIH NDINXIDFNIQH PJ PJU ILPDN *DPLDQ $% . PJU §LPDN "DPLDQ $%
U §LPDN *"DPLDQ $% > .20387(52:% ,, *.
.20387(52:$
o/ %"
7\6] 7N 7N
z 3URIHNI THVSRIRZ\ IDE  PJU §ULPDN SUNXV]H NDINXIDFNIQH PJ
= *DPIDQ $% .20387(52:% U §ILPDN *DPLDQ $% SURIHNI LQTNQHUVNL PJU
= o/ , .20387(52:% §LPDN "DPIDO $%
N o/ $- .20387(52:% O
/ 1
7N 7N
o = \EUDQH HIHPHQIN = \EUDQH HIHPHQIN
e IQIRUPDIAN. PJU §lLPDN IQIRUPDIAN. PJU §lLPDN
2 *DPIDQ $% "DPIDQ $%
.20387(52:$ .20387(52:$
en/ / 6w/ /
7N 7N 7N 7N
Z 3URIHNI THVSRIRZ\ IDE  PJU §ULPDN
= 6\VIHP\ JDU14G]DQID *DPIDQ $% .20387(52:% = \EUDQH HIHPHQIN = \EUDQH HIHPHQIN
a IUHGFLa PJU GILPDN o/ , IQIRUPDIAN. PJU §ILPDN IQIRUPDIAN. PJU §ILPDN
N *DPIDQ $% “DPIDQ $% “DPIDQ $%
. .20387(52:$% .0 .20387(52:% .20387(52:%
/ 5°= 0/ 6%/ / 6%/ /
52
=
™
7N
= \EUDQH HIHPHQI\ LQIRUPDINNL PJU §UPDN
*DPIDQ $ %5 -
7\¢]
= \EUDQH HIHPHQI\ LQIRUPDINNL PJU §ILPDN
*DPIDQ $ 6%5 =
% 7\G]
[ = \EUDQH HIHPHQIN
4 IQIRUPDIAN. PJU §lLPDN
S *DPIDQ $%
.20387(52:$
6%5 /
7\¢]
= \EUDQH HIHPHQIN
IQIRUPDIAN. PJU §ILPDN
*DPIDQ $%
.20387(52:%
6%5 /
7N 7N
A = \EUDQH HIHPHQI\ LQIRUPDINNL PJU §LPDN *DPIDQ $% = \EUDQH HIHPHQI\ LQIRUPDINNL PJU §LPDN *DPIDQ $%
.20387(52:$% .6%5 .20387(52:$% .6%5




